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0014 P RN 1,723 | 2,146 | 2,207 | 4,353 1 0 -1 -1
omE A — H 375 448 454 902 | . 4o 3 2 0 2
o122 & % 176 250 269 519 | -2 -1 -2 -3
021 iR Z| 362 449 418 867 3 1 3 4
031/ wE[l 122 155 168 323 1 0 0 0
032/ % 1 — Ep[ 825| 1,092 | 1,113 | 2,205 4847 2 8 2 10
0338 1 — ¥ 976 | 1,296 | 1,346 | 2642 3 3 5 8
034 HT i WEl 289 370 389 759 | | e0g 2 2 4 6
153 |d 93 T H (BT 301 371 399 770 | -5 -8 -6 -14
041K mr 114 134 131 265 507 1 1 2 3
152/ 2T H(KET) 100 113 129 242 0 0 0 0
042 fii 135 157 167 324 1 1 1 2
051 |fif BT 391 435 457 892 | 390 1 2 -2 0
150/ s 1T B (fhET)| 221 255 243 498 | -2 -1 3 2
053 i BTl 196 233 239 472 551 1 0 0 0
151\t %1 T H (3 HT) 29 42 37 79 0 0 0 0
054 ik i 92 127 129 256 0 0 -1 -1
o61& H — | 116 162 155 317 1,060 0 -1 0 -1
062 % H . up| 324 375 368 743 | 0 -3 -4 -7
071 7f Al 100 119 110 229 1 1 0 1
072 |k || 122 118 114 232 -2 -1 -2 -3
07374 = 72 94 79 173 0 -2 0 -2
081 LbLMNLE1TH 277 383 395 778 2 -1 1 0
082/L5MnLE2T H 280 365 359 724 0 -2 -1 -3
083 L5 LE3TH 250 344 319 663 3 581 -1 0 -3 -3
084 L5/ LHE4T H 263 345 341 686 | 0 -2 0 -2
085/L 5 LES5T H 294 370 357 727 2 0 1 1
086/L 5L HE6T H 1 1 2 3 0 0 0 0
101\t 1 T H 346 432 445 877 2 4 1 5
102|4b 2 T H 364 450 470 920 | 2,728 2 -1 0 -1
1031t 3 T H 332 464 467 931 3 3 4 7
112/% b 2 T H 329 421 414 835 0 0 1 1
118|% b 3 T H 441 561 594 | 1,155 | 3,047 0 -1 -3 -4
114/% 11 4 T H 393 506 551 | 1,057 3 0 -2 -2
1215 £ H 1 1 H 234 282 323 605 0 0 0 0
1225 £ 2 T H 335 428 464 892 | 2,442 -1 0 -2 -2
1235 ¥ £ 3 T H 344 473 472 945 0 0 0 0
1318 A 11 H 289 440 462 902 0 0 0 0
1328 & 2 T H 250 378 403 781 3781 0 -1 -1 -2
1338 4+ & 3 T H 321 465 525 990 | 0 1 1
1348 i+ £ 4 T H 399 532 576 | 1,108 0 0 -1 -1
14158 D | 196 295 283 578 1 2 2 4
1711% | 1 T H 366 577 640 | 1,217 1815 -1 -1 -1 -2
172/% |1 2 T H 180 313 285 598 ’ 0 -1 0 -1

g 13,645 | 17,766 | 18,268 | 36,034 21 3 -1 2




